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In a town called N, only two tribes Bezo and Keon lives. The

population of Bezo is 50% more than that of Keon. In the town, the
ratio of males to females i@nd in Keon tribe the number of
females 1s 40% less than that of male population and in Bezo tribe,
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the male populations are equal to that of female populations. The total
number of female populations in Keon tribe is 2400.
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Question 1- What 1s the ratio of the total population of the

town to the total male populations of the Bezo tribe?
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Question 2- What 1s the total number of male populations
in the town?
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Question 3- In the town, the total number male populations
are how much more than that of female population?
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Question 4- 40% of the total population of the town are

below twenty then total how many of people are above
twenty?
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Question 5- The total number of female population in Bezo
tribe 1s how much percentage more than the female

population of Keon tribe?
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Question 6- What will come in place of question mark. /[,[/
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Question 7- What will come in place of question mark.
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Question 8- What will come in place of question mark.
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Question 9- What will come in place of question mark.

T 9- T TIg o T I AT ST
40% of 375 = V2116 x 23 = 1500 = ?
ly=
£X3H8 (95— (500 - 20
X he X B. 10
A C. 30
= @-:20 D. 40
e E. None of these

https://t.me/mathbytarunsirmepl



| @ SBICLERK 2023@

Question 10- What will come in place of question mark.
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Question 11- A 420 liter of mixture ¢f milk and watertontains water and
be added to make this ratio

milk in ratio 2:5. How much water mus

equal.
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Question 12- The ratio of number of boys and girl in a class 1s 9:5. If 16
boys are replaced by 16 girls then this ratio becomes 1:1. Find the total
number of students.
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Question 13- P started a business with Rs 20,000. After 4 months Q also
joined with Rs 30,000. At the end of year there total profit was 4x. Find
the share of P.
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Question 14- Find the compound interest on a sum of Rs 40,000 at 30%
per annum for 1 year . It 1s given that amount 1s compounded 3 times a

year.
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Rs 11240
Rs 12240
Rs 14440
Rs 13240
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Question 15- The average score of a person in 10 test wah 174. If he
scored 160, 184, 144, 172 and 180 in his first five test then find average

marks in remaining 5 test.
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Question 16- A bag contains 4 red, 3 blue balls. 3 balls are drawn at
random. What 1s the probability that 2 are of same color and 1 of different

color.
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Question 17- From a pack of card 2 cards are drawn at random. Find the

probability of getting red card.
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